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Fhis papel consisis ol sections AL B anmd |
Answer all questions in this p ipes

Caleulators and cellul

_ lar phones are not allo
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[he following constants may be used

AtomiIc Masses:

C=12Z, D= |6, Mg =24

Al = 26, 5=731 Cl=35.5

Mn= 352, Fe =230 Cu = 63.5

Avogadro’s number = 6.02x 10
GMYV at s.1.p=22.4dm

| faraday 96, 500 coulombs
Standard pressure = 760 mm Hg
Standard temperature = 273 K.

1 litre = | dm’ = IG[H!I..:H'
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o each ol the ikems (1) LX) choose he CiNTe

SECTION A (20 Varks)

\nswer all questions in this geet 1

i unswer-from the Biven altermaiives apd WTILE it

letter beside the iiem number in the answer hook lei prowvided

{1

{ V'

(i)

{vii)

IR

Which of the foll WIg 15 | rue aboul The fislldw Ing equilibrium "H,0 i i
A Water molecules have st pped changing into 1o

H Water molecules mave all chanped into i T

C Loncentrations of waler madecules and fons: 4re el

D Loncentmliong Ol wiler moblecu|e and 1oms are onsiant

E Water rmole tles are mos Ing AT

The Froperty of metal 1o be drawn into w Ires 15 called
A conductivity B imleability [ dictilin
[ decorating | EXpaAnEion

“I. il :Ill.:.ll.l CLEMmeil (i i, .|'::I‘_';_'_r.\_":, WS Il | .:'|||-|_:.._r;'_ A0 A eoLs |:||'|.;||'| it mom o || |.||||| i

[or 15 minutes. the mass of iron deposited at the ¢ thode will he

A 30ap H 56 ¢ { .54 gy
] 28 g E, 52¢

What will happen when ving 15 placed m agueons ¢ pper (1) sulohate
A I:_'I,||'I|'I-,"| atoms are oxidised L&) LINC Almims a e oxidised
L Lapper 1ons are oxidised Dy  Zinc ions ire oxidised

E hlll'["!‘ll.lr WO are oxidised

Which of the lollowing pair of Ed% Can be prepared in the lal ratory and collecled over
Wiler?

A CIxygen and Ammonin B Uydrogen and Hyvdrochlaric acid

( Hydrogen and Oxypes D ' Oxygen and Hydrogen chioride

B ]l'_'.'.!r--;_[n'l: and Ammonia,

F'wo substances are allotropes ol carban if
A both reduce heated iron (1) axide to iron

B have different crystalline Structure

C  have equal musses

1} have equal shape

I have the same armangement of atoms

The apparatus suitable for measu ing specific volumes of liquids is called

A Rureie B Volumetric flask i Pipetie

D, Measuring cylinder E  Gradusted beake

Which among the following the reaction, Cu:" +Zn —>an - +Cu represents?
- i } i (K]

A Synthesis B - Precipitation .+ Neutralization

D Displacement E  Decomposition
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(ix)  The occurrence of two or more compounds with the same molecular To miiln but differcnl
nileeu b SIFUCTURNGS 18 Knosen 2
A Vimphoderism B, lsomernisin i Allotrops
0 Polvmaormhism | lsatopy
i Which of the following sets of symbols represent isotopes of i singic ¢lement?
A % ER BX AL T
¢ ' R P D WK BK GK
E 2L M |

Maich the items in List A with the responses in List B by writing the leter of the commect responsc
#1541 [ [ !I':l.' L& NuagnBes ¥l || £ AT O |'\|_|.-| Izl |'||.I\.;||.'||
1 Gt A | List H
Wy Moms of the same element that contain  different | i
numbers of neutrons 3 Electron
| [ e e lEmeiis LH .il'-:ll ik |l.|"| mictalle and mon-mmet 1| B3 L H.!ll.l al
charactenstics | B Metallonds
1
|'-'-"J-.' sub mlomic pamicle NOT found i the nucless of e | E lsatopes
| ftorm I Mass number
[iv) I'he numbser of protons found in the nucleus of the atom &7 Meutron
Lvl, Fhe total number of protons and neutrons. m e pocleus:| H  Allotropes
af the atom |  ‘Noble puses
| (vi) The number of unpaired electrons on an atom J  Penod
| fvmi} The elements which dre incredibly stable and rarely reacl, | K& Group
- !
I {vin) The non- melals thit form diatomic molecules | Prodon
{1Xk. Sub atomic particle with no charge | M Valence
(%) A group of atoms with unpaired electrons M Alomic radi
| O Halogens
SECTION B (54 Marks)
Answer all questions in this section
{m) Give the meaning of the following terms:
{1 Soil FJ”
(i) Lwming.
ibj i1 Explain why sulphur and 1ts compounds are removed from fuels before

burmed.
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(1]

I

f )

Lil)

L Lrescnibe haw “IIFI\':! ':Ji""“':- 1% Sregnied gl sl '|I!| roiriaide. Cove the reaction

canditions and the equation| s)
Niflerentiate dilites Eodoa.
Intterentiate dilute hvdrochlonc acid rom diluie sslphunc acid

I"IHI mensured ihe valirme ol Bas oeiced when 3 g ol Twi chemicnis
i i 1 ] |
addded sEERIFlEly W hydropen peroxnde under dceniical Cori s s et fa

=Apenment are represented on the praph helow
L

Violume

il pas -

i
Fime in sec s

lohn climed that Y 15 a better catalyst than X, His parner Steven did not g

(i} Why does Steven think that John's conclusion i3 wrong?

fun) Adter the expermment, Steven recovered 5 g oof X and | ¢ of Y from the tw
experiments; He clame d that this shows that John was wrong. Does Steven's claim

trueT Ciive @ reason

Give the name of the type of reaction represented by cach of the following chemacal
=4 [THIRERIR R
(1) CiH, #5350, #3000, +4H .0

(1) IPNG, ) —3PH0), . +4NO,  +0,

() &n, +CusS0, . —ZnsS0, . +Cu,

- I . =1 . 2
2% om” samples of witer A, B, L and D were tested with soap solution. The volume of
soap solution required to produce o lather that lasted for a minute was recorded. Fresh
sampies of cach were boiled and tested agam with soap solution, The results are shown in
Iable |

Table |
Water sample

Volume of soap salution Volume of soap solution
| _ required (em') before boiling . I'ELIuirlﬂ'll_l:_'ﬂ'lj}_Hl'l_l:.'t'_hl'li!ln['_
A _' o 5.0 \
| H ' 1.0 . 1.0
! C | 1.0 T i
) 9.0 i 1.0

i) Which hil11l|‘.|:':.‘ ph|11:jh|'g. conlaing lemporary hardness of water only?

1) Which sample probably contams both permanent and temporary hardness of

water? Give a reason for your answer.,

Write the structural formula for the following compounds:
(1) Hut-2-gme,
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(T R e T
IRLLR 1o e Moot haan
LI Yoo e thv e xane

Brielly explsm swhal will be dbserved whe v

e R ALy il adizes
siolu b ol sodium ehlirdi
1 Leierming the cimpirical  Fornsaie .1 ubsdmcie Dhal the follo
miass 49 5% minngancse and 5% oy Een
i b} Ciivie ogie peasom why alommiiiliim b chosen L T poh of the following i
i1} Cosoukiimne Tonnl
Li1} Uiverhiend clecine cabie
i) Woarnloww franme
i il i
& LY ldentiiy and SLoig fhe SiyIrrie riddil proklienm Cili | by 1l 1 hi !
Wlmat fuprmiee i the exiraciion RTOIR b ik
¥ i | i
(1Y (1) Draw & labelled diagram of B sunple electrolyne oell il
prifieed
1 i 'I' I
(1) wieite halanced 1onie equaiions. o whH e electrode feactio
LASPIPNET 1S prariied
0] iy same two clements which are exp el iy o sdaerad SRR chermcil
avenesium. What is the basts [or your CiHaeL !

(b Clate the mdin raw roaberiil

|-|l.|-_|I||,'I'-~L

{i) Woiand charcoal
{18) [Coke
(i)  Lampblack

11 Give two chemical tests ol walc pmid the expecied

A student iested five

and hie proceis My

solutions M, N, O P oand O with a uf

el 1 the nRaraiaci

resull bo he observed

their |F]| values. The following reauills were phlaned

M

= —: o I

I Ll

1 _l | J | )
pH 5

| B
-

pH

¥ - o L) |
Which of the ghove solutions wis

i)
(11)
{111}
(1%}

11, (a)

{1)

] putral solution
Strong acid.
Strong alkali
Weak acid.

Siate the meaning of the

(allowing and gIVe ONE

Amphoteric oxide
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fah \crdic oxide

sl A student investigated different reactivity of a set of metals by placing picces of cach

metal in metal nitrate solution, Table 2 shows some of the resulis

[abie 2

Solution Aluminium | Barium Lithium
Aluminium nitrate E '

_Barium nitrate [ X ~

| Lithium nitrate N ' X
Mapnesium nitrate | X . -

1 ITS . s =]
Where: reachion abserved and X Mo FEaehion

(1} Lise the results given to amange the metals in order of reactivity s

most reactive metal

Ll Uise the reaCtIvily Serics in 11 (kY iy to com plete lahle 2

SECTION C (26 Marks)
Answer all questons in this section

| Explain five methods to prevent temmestmal pollution

Marnesium

b atl ||.'.'

13 0.48 g of a metal. M was placed in a test tube and hot copper (11} sulphate solution was added to it
and stirred until the reaction stopped. The metal (M) displaced copper from copper (I1) sulphate

salution, Copper was hitered

{nven that, the balanced chemical reaction that
{a) Calculate:

occurred is M, +CuS0,_

I, washed with water, dried st 1 C and the mass found o be 1

»MSO,_ +Cu.,

{1} the number of moles of copper thiat were formed and the number of moles of M that

wiere used in the reaction.
(11} the relative atomic mass of v and hence identity metal M

(b} State the appearance of the metal formed (Cu)

(c) With ionic equations, explain why the reaction can be considered to involve both oxidation

and reduction.
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